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Em: ZIAMRE
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BT ax’ +ba® +ex + dBERE & + B (h #0) BER, TR (¢ - ah®)x + (d - bh*) =
o,muﬁ{““" =0 i =S =L pitlad = be.
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[fE#T] EEEC
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[##F ] ERE A

R R
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(B ] B2 E
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ER: ZUiA
BT -4 +4x +9 =-4(x* —x-1) +5Ha> -x -1 =0, Tl —4x” +4x +9 = 5.

[MRAF)ERE A
E8: ZUREH

HF (1 -’ +(a+20x - 11y +8 WS x X, ﬁjfu{] = b =0, 8. a =-2,
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b=1.

[T ) E5RE A

R 20
T 27p +3¢ + 1 = 2014, W4 27p +3¢ = 2013, L) —-27p -3¢ + 1 =-(27p +3¢) +
1 =-2013 +1 =-2012.

[fBHT]EREC
e dEftE, 2K
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FrLUE = 16, BIE/IMER 16.

(R ] A% 2 C.
E: Bt Zms
1

T (2m + 1)+ (n=3)% =0, fibhm =- —n =3, WH m™ = (—%) =-8,

[ R4 ] 252 A
FR: ALK

@ +b +c¢ —ab - be - ca =;—[(a—b)2+(b—c)2+(a—c)2]
= 3=+ (1) + (~2)"1= 3.

(BT ] 5 %E C
ER: ZIARIT
(& +pr + T =30+ =2 +(p =302 + (g =3p + D" + (pg —2D)x +7q, K&

K 5 a7 I, 'ﬂ'Pﬁ{p—3=0 , iR p =3,9 =2.
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[ fRAT )&% R B.
E5: o
. 2 )
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L [MFIERE A
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2. [MHF]BEEEA
A 4K
_a+ia 242 _ s Qe o _
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Zm: k. ARKidie
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Em: A FRE
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5. [MB#T]EREB.
Zm: . ALt
a+b-c=ck
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—a+b+c¢=ak
Off, k=1, %a+b+c =00, fFa+b=-c, FHAAB-IEFXGE=-2, ¥
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T2 7100 T 200
[ ]BERE
Fa: ok
T - + 2 . 4 S 53 4 T 75
(x +3)(x =2)  (x+2)(x +3) (x +2)(x =2)°
3(x 2(x —
x +2)+ 20y 2)=4,%?-'f%:x=10.
x+3
[#R47 ) B %2 C

Fm: UL, RER

HF 2 92" 4qx 46 = (o + D (v = 5) (o + o), WATHBORFSLATS, BI6 =1 x

(— %)xa’ it a = -4, Bl flo A —P—REARXEx -4.

[ fgaR ] 2 50 C.

R ZUHAEIHT

Sx=0,UHF:1=aq,.
Za=1,MH:1=ay+a, +a, +- +a.
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6
A1 +3° =2(ay +a, +a, +a;), WH a, +a, +ag = (1 +23 )—1 = 364 .
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1 | 1 1
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1 1 1 1
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y + 1 x x(y+]) x(y+1)
L Y50, BNES.
y+1 «x
§ 2P E=S TN
Eam: . RTORA
. 2 B 3 e 10
Ix(1+2) (1+2)x(1+2+3) (1 42+ +9) x (1 +2 +--+10)
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=1 -(= - = _ [ _
(1 1+2) (1+2 1+2+3) (1+2+---+9 1+2+---+10)

! 1

“1+2+--410 55
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Fm: BAMBRE. /e

BRI, f(1) =1, f(-2)=-17, Mia +x-2=(x-1)(x+2), Hx=1Kx=
2 WA LHEXFARRA CHEEE .

[ fR#T ] HRE C.
EF: o, RHUOKAR
1 1 1 5

Frrn GredGaed T (ke (re10) 24

:I_(L_ 1 4 1 B 1 & oo 5 1 B 1 )=i

2\ (+2) (G +2) (i +4) (/x+8) (J/x+10/ 24
1/1 1 5
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§ 2= Sy0

Ea KRR

-a’-4a-5=-(a> +4a +5)=-(a + -1, JRHE—-ENTREET -1, W
—E/NF 0.

[ @47 ] 522 B.

(1) HFxy =-6,x-y =5, WH (5 + P> = (x - +dxy =1, frlle+y =1,
BR xy(x + ) BMEAME—, RFE5. &M42): BFay =-6,%" =18, iy = -3,
v =2, B xy(x + ) BEME—, 7.



